GCSE Non Calculator Exam Questions
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Answer ALL TW)

Y KIGHT questions.
Write your answers in the spaces provided.
‘You must write down all stages in your working.
You must NOT use a ealculator.

A box contains milk chocolates and dark chocolates only.
The number of milk chocolates to the number of dark chocalates is in the ratio 2 1

‘There are 24 milk chocolates.

Work out the total number of chocolates.

(Total 2 marks)

2. (2) Simplify
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2. Kaysha has a part-time job.
She is paid £5.40 for each hour she works.
Last week Kaysha worked for 24 hours. -
‘Work out Kaysha’s total pay for last week.
Q2
(Total 3 marks)
3. Here are the ages, in years, of 15 teachers.
35 52 42 27 36
23 31 41 50 34
4 28 45 45 53
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2. (a) Simplify 4x+3y —2x+ 5y

Compasses cost ¢ pence each.
Rulers cost r pence each.

(b) Write down an expression for the total cost, in pence. of 2 compasses and 4 rulers.
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(Total 4 marks)
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(a) Complete the table of values fory = 4x - 3

x -2 -1

-3

@

(b) On the grid, draw the graph of y = 4x — 3. for valucs of x from —2 to 3
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(a) Complete the bl of values for y=2r+2
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(b) Onthe grid, draw the graph of y = 2x +2
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(@) the value of y when x = 1.5

(i) the value of x when y =7

@
(Total 6 marks)
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4. Here are the first five terms of an arithmetic sequence.
10 14 18

(a) Find, in terms of 1, an expression for the nth term of this sequence.

(b) An expression for the nth term of another sequence is 10 - 1*

(i) Find the third term of this sequence,

(i) Find the fifth tem of this sequence,

@

(Total 4 marks)
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accurately drawn
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A cuboid is shown on a 3-dimensional grid.

(a) Wite down the letter of the point with coordinates (2. 1. 0).

(b) Write down the coordinates of the point P.

)

-)
@
(Total 2 marks)
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‘The radius of a circle is 10 ¢m.

Work out the area of this circle,
User=3.14

e

(Total 2 marks)

3870
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6. Work outan estimate for 50
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Diagram NOT
accurately drawn
axe1
212
‘The diagram shows a rectangle.

All the measurements are in centimetres.

() Explinwhy  4x+1=2x+12

o
®) Solve  4x+1=2x+12

@
(©) Use your answer to part (b) to work out the perimeter of the rectangle.
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6. 30 students took a test.
The table shows information about how long it took them to complet the tes.

“Time (tminutes) | Frequency
0<i<10 5
<< 7
- s
30- o
<< 4

(&) On the grid, draw a frequency polygon for this information

10

Frequency

o 10 0 30 0 50
Time (1minutes)
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(a) Find a value of x.
@
(b) Express 72 as a product of ts prime factors.
@ Q8
(Total 4 marks)
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B 6. This rule is used to work out the total cost. in pounds, of hiring a carpet cleaner.
Multiply the number of days’ hire by 4
‘Add 6 to your answer
I
Peter hires a carpet cleaner.
The total cost is £18
(a) Work out for how many days he hires the carpet cleaner.
(b) Write down an expression, in terms of n, for the total cost, in pounds. of hiring a
carpet cleaner for n days.
@ |Qs
(Total 4 marks) -
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Give your answer in it simplest form,

. 2.4
©) Wotkou x5

(© Work out 423 % 12

You must show all your working.
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You must show all your working.

® 01

(Total 7 marks)
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Diagram NOT
accurately drawn
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Work out the total surface area of the triangular prism.
Give the units with your answer.
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N Work out the total surface arca of the triangular prism. =
B Give the units with your answer.
-
Q7
(Total 4 marks)
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9. Here are the plan and front elevation of a solid shape =
Plan Fron Elevation
() On the grid below, daw the sde elvation o th sold shape.
@
() Tn the space belo, draw a sketch ofthe sold shape.
o (@
(Total 4 marks)
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8. Simon wants t find out how much people spend using their mobile phone.

7%

He uses this question on a questionnaire.

How much do you spend using your mobile phone?

2165 £5£10 £10-£15

(8) Write down two things that are wrong with this question.

1

@
(b) Design a bette question for his questionnaire (© find out how much people spend

using their mobile phone.
You should include some response bores.

@
(Total 4 marls)
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11. The length of a line is 63 centimetres, correct to the nearest centimetre. -
(a) Write down the least possible length of the line.
centimetres
]
(b) Write down the greatest possible length of the line.
centimetres
@ |ou
(Total 2 marks)
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12. Batteries are sold in packets and boxs.

Each packet contains 4 battrics.
Each box contains 20 batteries.

Bill bus p packets of batteries
and b boxes of bateries.
Bill buys  total of N batteries.

Write down a formula for N in
terms of p and b

(Total 3 marls)

. (@) Write in stndard form 213000

(b) Write in standard form 000123

[}

[}

(Total 2 marks)

|=m..| =

14,

(&) Write down the value of 5°
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13. (2) Write down the reciprocal of 4
4 3
(6) Work out the value of 22 — 15
Give your answer as a fraction in its simplest form.
-
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13. Make v the subject of the formula  £= %n

(Total 2 marks)

Diagram NOT
¥ accurately drawn

o12,7M
/ x

o =T [ T = s

ARG 156





[image: image24.png]per 08.pdf - Adobe Reader =181 x]
x

Fle Edt View Doument Toos Window Hep

,@.\@ S F2 /2 @@= e [ i -
] oy
1
Iy
"
55 # 3 =2 A0 X
= .
-
-
(@) Rotate triangle P 180° about the poiat (-1, 1.
Label the new triangle A
@
® Tnmht:manglclbymcvmm[ﬁl]
Label the new triangle B
Y
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15. (2) Expand x(3x- %))
&)
(b) Factorise x*—36
@ (o
(Total 3 marks)
16. The incomplete box plot and table show some information about some marks.
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16. (a) Expand and simplify 3(x + 5) + 2(Sx - 6)

© Simplity 2544

(©) Factorise  Sx+10

(@ Factorise fully 2%y + 7
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() Simplify

(©) Factorise  Sx+10

(@ Factorise fully 2%y + 7

@
(Total 6 marks)
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15, kis an integer such that -1 < k<3
(@) Listall the possible values of
@
(b) Solve the inequality 6y > 3+ 10
@ s
(Total 4 marls)
16. Make g the subject of the formula 5(g +7) =4+ 8p
Give your answer in it simplest form.
Q16

(Total 3 marls)
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16. The incomplete bos plot and fable show some information about some marks.
0 c)
Mark
Lowest mark 5
Lower quartile
Median 30
Upper quartle 35
Highest mark 55
(3) Use the information in the tabl o complete the bos: plot.
®
(®) Use the information in the bos plof to complefe the fable.
Q15
(Total 3 marks)
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17. (@) Write 6.4 x 10° as an ordinary mumber

@

(b) Write 0.0039 in standard form.
]

(© Wite 0.25 x 107 in standard form.
@ |

(Total 3 marks)

|32 [[Frap-. Bivec..| 4 [soll & FHEADGT 547





[image: image31.png]per

08.pdf - Adobe Reader

Fle Edt View Doument Toos Window Hep

=181]
x

B start] o | v | s 2 .

= EH A .ﬂjv\@ P NEAPETS NN T I T ] -
18.
Diagram NOT
—D accurately drawn.

In the diagram 4, B, C and D are points on the circumference of a circle, centre O.
Angle BAD=70°
Angle BOD ="

(@ () Work out the value of x.

(i) Give a reason for your answer.

@
() () Work out the value of y.

#)yea.
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B (@) (i) Work out the value of x

(i) Give a reason for your answer.

@
(®) @ Work out the value of .
=
() Give a reason for your answer.
@ |
(Total 4 marks)

570799 2 A0 16 2
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Diagram NOT
accurately drawn

‘The diagram shows a circle centre O.
4. B and C are points on the circumference.

DCOis a straight line.
Di is a tangent to the circle.

Angle 4D0 =36
(a) Work out the size of angle AOD.

@
() () Work out the size of angle ABC.

(i) Give a reason for your answer.

@ Qs =
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19. Solve the simultaneous equations.
= Qu
(Total 3 marks)
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21 Workout  (2+V3)2 —V3)

Give your answer inits simplest form,

(Total 2 marks)

N355 20 A0 18 2

Diagram NOT
aceurately drawn
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] 20. (2) Complete the table of values for y =x* —4x +2 e
x -1 o 1 2 3 4 5
¥ 2 -1 -1 7
@
(b) On the grid. draw the graph of y =32~ 4x +2
)
8
JU 0| x
@
(Total 4 marks) =
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21. Tom and Sam each take a driving fest.
‘The probability that Tom will pass the driving test is 0.8
‘The probability that Sam will pass the driving test is 0.6
(a) Complete the probability tree diagram.
Tom Sam
06— Pass
Pass <
08 T Ea
Pass
05—
—
Rl <
T~ R
@
(b) Work out the probabiliy that both Tom and Sam will pass the driving test.
@ hd
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23. () Expand and simplify (x = 3)(x +5)

() Solve x2+8&r-9=0

(&)

(Total § marks)





